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Ex. Make a table, tell what type of graph it is, and sketch the graph.
(a) r =3cos@ | |
Type: CAYC C\E 0 ¥x-aX\S

- (b) ¥r=-2siné
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(c) r=2+2sinf a=bo

Type: _Co@iowd o) N -aX\8




() r=1+42sinf A& .
Type: “ mMma %09[) W& \0OD 0w \\’e)(\ >

Notice that example (e) has an inner loop. ¥ O\id-

At what value of @ does the loop begin? [ s
whexQ (=0 . ~ =sind
- At what value of @ does the loop end? “7&2 6 - ‘41{7(0 3 W :r]w

whnexe =0 adaind
What do you notice about the values of r for the points that are on the loop?
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() r =4cos(26) d
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O = U(COSZG Name the values of @ where the petals begin and end. TVLU( t TV,_Z_V)____W

What is the maximum value of  on your graph? _ L"

Namec the values of @ that give a maximum value for r. W2 n

4= 00519

(&) 7 = 6sin(36)
Type: Y0 §Q wi ?)PMB\S

0 - m S \059 Name the values of & where the petals begin and end. Ba: B

What is the maximum value of » on your graph? _\_‘2
Name the values of & that give a maximum value for r. I( ) "‘ EZ n |
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